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QUESTION 1

Given: Return Loss is the decrease of forward energy in a system when some of the power is being reflected back
toward the transmitter. 

What causes high return loss in an RF transmission system? 

A. A Voltage Standing Wave Ratio (VSWR) of 1:1 

B. An impedance mismatch between devices in the RF system 

C. Cross-polarization of the RF signal as it passes through the RF system 

D. The use of different connector types in the RF system (e.g. N-type and SMA-type) 

E. Low output power at the transmitter and use of a high-gain antenna 

Correct Answer: B 

 

QUESTION 2

During the discovery and connectivity process, client and AP stations exchange information about their supported data
rates. After the association, how do client and AP stations select the supported data rate that will be used to send an 

802.11 data frame? 

A. During the association, the client and AP agree to use the same transmit rate, but either station can request a change
at any time after the association. 

B. The client and AP each choose the optimal data rate to use independently of one another, based on their own
experience of the RF link. 

C. The client and AP may use different transmit rates, but the AP determines the data rate that will be used by each
client station in the BSS. 

D. The client and AP may use different transmit rates, but the client determines the data rate that it will use and the data
rate that the AP will use when communicating to the client. 

E. The client and AP may use a different transmit rates, but the transmit rate is determined by the peer station, based on
the peer\\'s experience of the RF link. 

Correct Answer: B 

 

QUESTION 3

As a consultant, you\\'ve been hired by XYZ Company to provide recommendations about client device selection,
operation, and interoperability. What information should be considered to help them choose the right WLAN client
devices? 

A. 802.11n OFDM is more susceptible to high-power, narrowband interference than 802.11a OFDM. 
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B. In order to earn Wi-Fi Alliance certification, 802.11n clients stations are required to support both 2.4 and 5 GHz
frequencies 

C. 802.11a/g devices may support WMM, but all 802.11n devices are required to support WMM. 

D. An 802.11g/n AP that is configured to support only OFDM data rates will allow HR/DSSS devices to associate. 

E. When HR/DSSS devices are present, HT MCS rates are disabled for the entire BSS. 

Correct Answer: C 

 

QUESTION 4

What term describes the effect of increasing the intensity of an RF wave with an antenna by focusing the energy in a
specific direction? 

A. Spatial Multiplexing 

B. Active Amplification 

C. Beam Compression 

D. Passive Gain 

E. Isotropic Radiation 

Correct Answer: D 

 

QUESTION 5

What answers correctly complete the following sentence? ____________ and ____________ carrier sense functions
are used to determine whether the wireless medium is idle or busy. (Choose 2) 

A. Passive 

B. Pseudo-random 

C. Virtual 

D. Active 

E. Physical 

F. Interframe 

G. Vector 

Correct Answer: CE 
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